Answers: The chain rule

Sara Delgado Garcia

Summary

Answers to questions relating to the guide on the chain rule.
These are the answers to Questions: The chain rule.

Please attempt the questions before reading these answers!
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1.1. . (? cos(b + 433)) =% sin(b + 4z).

d
1.2. = (4 cos(z?)) = —8x sin(z?).

1.3. % (e$2+5) — 27e® +5

1.4. % (2(sin(2x))?) = 8sin(2z) cos(2z).

d . )
15, (o) = 3 con(3r)e )

1.6. Using laws of logarithms, write In((2 + 4272)7!) = —In(2 + 4272). Then
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— (In(2 4+ 42721 = = .
dz (In(2 +427%) ) 24+4r—2 342
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£<—5\/aj—2> =— —
—$< (x+3)2> =1 (for x > 3.)
— (In(a® +1)) = xff_l

d
o (In(cos(x))) = — tan(z).

(2cos?(z)) = —4cos(z) sin(x) = —2sin(2x).

d
(2(x® + ba? + 13z — 1)3) = 6(3z% + 10z + 13)(2> + 5z? + 13z — 1),




2
1.17. i <sin( x2—|—1>> = zeos(Ve? +1)
dx

1.18. o (sin(e®)) = e” cos(e®).
d

1.19. . (cos(e™2* +5)) = 2e " sin(e”2* 4 5).
T

d 922 + cos(x)
1.20.  — (In(323 i = 0.
dz (In(32° + sin(z)) 3x3 + sin(z)
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